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Directions (1-5): &I 1S "{I"@ﬂT H Ireld Ug AT hifae-

Q1.914, 1122, 1330, 1535, 1735, 1928, 2110
(a) 1122

(b) 1535

(c) 1928

(d)914

(e) 2110
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Q2. 2160, 360, 72, 18, 9, 3, 3
(a) 2160

(b) 18

(c) 360

(d) 72

(e)9
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Q3. 545, 520, 568, 499, 591, 476, 614
(a) 520

(b) 545

(c) 614

(d) 568

(e) 476
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Q4. 192, 202, 210, 216, 225, 243, 288
(a) 210
(b) 202
(c) 288
(d) 192
(e) 243
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Q5. 1250, 1263, 1280, 1299, 1322, 1353, 1382
(a) 1263

(b) 1382

(c) 1299

(d) 1353

(e) 1250
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Directions (6-15): 38 & Wed® AT &, &Y gHAwwor (1) 3 (1) few arv & =t
AN F g F AR Arfaf@a Reedl & @ sfa 3@ gfac-

I. x2-11x +24=0
06 1L 2y2-9y +9=0
(@I x>y
(b) Il x>2y
(IfEx<y
(d)afgx<y

(e) TS x = y AT x 3R y & F7ET Tay TUT T8 ThaT ST ThdT .
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I x3 X 13 =x? X 247
II. y1/3%X 14 = 294 + y2/3
a7 y y

(@I x>y
(b) T x>y
(@afEx<y
(@ IEx<y

(e) TG x =y AT x IR y & ALY FIY T g1 fohT ST HheT ©.
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l 12x4 ) 3 x4 _ 10/7
Y A7 47

3 _
o, 11-¥3 +783 =999

(@I x>y
(b)IEx>y
(afEx<y
(d)IEx<y

(e) TG x =y AT x AR y & ALY Gy AT g1 fohaT ST FeheT &.
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I. x¥*-13x-48=0

. II.y*-y-72=0

(@I x>y
(b) Il x>2y
(Igx<y
(d)afgx<y

(e) TG x = y IT x R y & AL Gy AT g1 foham ST FeheT &.
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I 14x% - 37x + 24 =0
q10, 1L 28y? - 53y = —24

(@I x>y
(b) Il x>y
(QaRx<y
(d)Ifgx<y

(e) T x = y AT x AR y & ALY Fayg AT 1T foram ST TheTT &
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.20x2 —9x+1=0
IL12y2 -7y +1=0
Q11.
@xzy
(b)x<y
x>y
(d) X 3R y & Feg gay Tanfd g7 forar ST dshar &
(e)x<y
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. 12x2% = 6x
2 _
012 [I. y==
(@xzy
(b)x<y
(Ax>y
(d) X 3R y & AT Y TATUT 181 hIAT ST TehlT &
(e)x<y
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.88x2—19x+1 =10
2 f— fr—
op, 1113277 =23y +1=0

(a)xzy
(b)x<y
(A x>y
(d) X 3R y & 7eg gay TA1fd w1g7 fohar ST dshar &
(e)x<y
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L6x?—7x+2=0

I.20y%2 — 31y + 12 =0
Q14.

(@)x=zy



(b)x<y
(c)x>y

(d) X 3R y & Feg gay Tanfd g7 forar S dshar &

(e)x<y
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.28x2 —8x — 11 =0
2 —
015, 11 28y° +32y +9 =10
(@x2y

(b)x<y
() x>y

(d) X 3R y & ACg gaer T 187 fohar o1 Thar &

(e)x<y
L1Difficulty 3
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Solutions

S1. Ans.(d)
Sol.

912

914 1122 1830 1535 1735 1928
1 1 1 1 1

2110

#210 +208 +205 +200 +193 +#182

[ I 1 1 11

I

— W

-2 -3 -5 -7 -11
S2. Ans.(e)
Sol.
6
2160 360 72 18 9 3
I 11 I I I I
+6 =5 +4 +3 +2 21
S3. Ans.(a)

Sol.



522

545 520 568 499 591 476 614
I I I 1 1 !
=23 +46 -69 +92 -115  +138

S4. Ans.(b)
Sol.
204

192 202 210 216 225 243 288
| | 1l 1l il |
+12 +6 +6 +9 +18 +45
| tl il 1 1l |
x0.5 x1 x1.5 x2 x2:5

S5. Ans.(d)
Sol.
1351

12?0 1%?3 1%?0 1%?9 1%?2 1353 1?82
+13 +17 +19 +23 +29 +31

S6. Ans.(b)
Lx2—8x—3x+24=0| IL2y2—6y—3y+9=0
X=3;B }F=15,3
=x=V
Sol.
S7. Ans.(c)
3
x 247 1,2 294
x2 13 14
¥ =19 y =21
SX Sy
Sol.
S8. Ans.(d)
48 — 12 10 3
= = x 7 [[_‘}" = 999 — 783
x7
12 =36 y3 =216
x=16 y=6
Sol. * X =¥

S9. Ans.(e)



(i) x*-13x-48=0
x°-16x+3x-48=0
X(x-16)+3(x-16)=0
(x+3)(x-16)=0
x=-3,16

(i) ¥-y-72=0
v -O9y+8y-72=0
y(y-9)+8(y-9) =0

¥+8)(yv-9)=0
y=-8,9
Sol. No relation between x and y
S10. Ans.(b)
I 14x2—37x+24=0 I.28y? — 53y +24 =0
= 14x? —16x—21x+24 =10 = 28y2 — 53y +24=10
=2x(7Tx—8)—3(7x—8)=0 = 28y? — 21y — 32y +24 =0
o= 8 = Ty(4y —3) — 8(4y —3) = 0
2°7 8 3
V=75
Sol. X =¥
S11. Ans.(b)
L20x*-9x+1=0
= 20x*-5x-4x+1=0
= 5x [(4x-1) - 1(4x-1]} =0
= (4x-1) (5x-1)=0
==t
IL 12y*-7y+1=0
= 12y° -4y -3y+1=0
= (3y-1) (4y-1)=0
=11
34
VX
Sol.

S12. Ans.(d)



I. 12x*-6x=0
= 6x (2x-1)=0
::-x=ﬂ,l

2
IL y* =4
yv=-2or2

No relation
Sol.

S13. Ans.(a)
1.88x°-19x+1=0
= 88x° - 11x-8x+1=0
= 11x (8x- 1) -1 (8x-1) =0
Sx=tt
g8 11
II. 132y*-23y+1=0
= 132y* - 11y -12y+1=0
=([12y-1)(11y-1)=0
1 1
CYTR T
X2y

S14. Ans.(e)
I 6x°-7x+2=0
= 6x°-3x-4x+2=0
= 3x(2x-1) -2(2x-1) =0
= [2x-1} [3x-2) =0
=x=33
I 20y*-31y+12=0
= 20y° - 15y - 16y + 12=0
= (4y-3) (5y-4) =0
TYEYS

V=X
Sol.

S15. Ans.(a)



I. 28x*-8x-11=0
= 28x% + 14x - 22x-11=0
= 14x (2x+1) - 11 (2x+1) =0
= (14x-11) (2x+1)=0
Sxoi 1

14 2
IL 28y°+32y+9=0
= 28y° + 14y + 18y +9 =0
= (2y+1) (14y+9) =0

1 9

REARETT
X2y



